
30

1:20

2255645

8

A

B

C

765

D

E

4321

87654321

F

A

B

C

D

E

F

DRAWING No

A2
SHEET AMDSIZE

DRAWN

PROJECT 

DATE

CHECKED

SCALE

DESIGNED

APPROVED

NUMBER

PROJTRAK

NUMBERASSOCIATED DRAWINGS

A
 M

 E
 N

 D
 M

 E
 N

 T
 S

 

D
O

 N
O

T
 M

A
N

U
A

L
L

Y
 A

M
E

N
D

C
A

D
 D

R
A

W
IN

G

20110901

NSW 2287

145 NEWCASTLE RD WALLSEND, GENERAL ARRANGEMENT 3-455

MID POLE OPERATED AIR BREAK SWITCH

STANDARD CONSTRUCTION

02-

ALL DIMENSIONS IN MILLIMETRES, UNLESS NOTED OTHERWISE

NOTES :

SCALE 1:2

TWO BOLT TERMINATION

DETAIL "B"

7 8

8 9 10

11

DETAIL "A"
N.T.S.

DOWNROD ASSEMBLY

IT IS NOT ON THE ROAD SIDE

SIDE OF THE POLE TO ENSURE

CAN BE INSTALLED ON EITHER

OPERATING MECHANISM

2
5
0
0
 M

IN
.

7
0
0
 M

IN
.

9
4

0
3

0
0

6
2

5

2
0

0
1

6
4

0

2965

2700

925

9101540

U BOLT

DOWNROD

HANDLE
OPERATING

COUPLING
PIPE

U BOLT

POLE

661

3
5

5
INSTRUCTIONS

ACCORDING TO MANUFACTURER'S

INSTALL AIR BREAK SWITCH

A
B

O
V

E
 G

R
O

U
N

D

3
9

0
0

G
R

O
U

N
D

A
B

O
V

E
 

2
0

0
0 SEE NOTE 5

PROVIDED WITH AIRBREAK SWITCH ASSEMBLY

M8 STAINLESS STEEL EYE COACH SCREW

DRAWINGS FOR LV CONSTRUCTION OPTIONS

REFER TO LV STANDARD CONSTRUCTION

4

CONSTRUCTION OPTIONS

DRAWINGS FOR 22kV THROUGH TERMINATION

REFER TO 22kV STANDARD CONSTRUCTION

1
1

0

 
S

A
G

 T
O

 B
E

 N
O

T
 L

E
S

S
 T

H
A

N
 5

5
0

0
 A

B
O

V
E

 G
R

O
U

N
D

 L
E

V
E

L

D
IS

T
A

N
C

E
 A

T
 C

E
N

T
R

E
P

O
IN

T
 O

F

LOCATION

LV CONDUCTOR

SEE DETAIL "A"

SEE NOTE 4

OPERATING MECHANISM

SEE DETAIL "B"

NOTE:

 1

 3 5 6

NOTE:

M10 NUT
M10 FLAT WASHER 
M10 SPRING WASHER

M10 NUT
M10 FLAT WASHER 
M10 SPRING WASHER

3
1

0

1413 15

12 15

2

3
1

0

22kV INSULECT AIR BREAK SWITCH 255645 SH1

NETWORK STANDARD

FOR TIMBER, COMPOSITE, CONCRETE & STEEL POLES

16

17

(SEE NOTE 7)

M12 NUT
M12 FLAT  WASHER
M12 SPRING WASHER
9mm BRASS BUSH
  HEAD BOLT
M12x40mm CUP

M12 NUT
M12 FLAT  WASHER
M12 SPRING WASHER
9mm BRASS BUSH
  HEAD BOLT
M12x40mm CUP

(SEE NOTES 3, 4 & 6)

(SEE NOTES 5 & 8)

    THIS STANDARD CONSTRUCTION.

9. REFER TO DESIGNER SAFETY REPORT D21/78521 FOR ATYPICAL HAZARDS ASSOCIATED WITH

    COACH SCREW WITH AN M12 GALVANISED EYE BOLT. (ITEM 16)

8. WHEN INSTALLING AN ABS ON A CONCRETE OR STEEL POLE, REPLACE THE SUPPLIED EYE

7. POLE STEPS ARE TO BE INSTALLED IN ACCORDANCE WITH THE REQUIREMENTS OF NS128.

    CENTRE OF THE HV CROSSARM.

    EXTRA 58mm OF HEIGHT. ENSURE MINIMUM 700mm OF SEPARATION IS MAINTAINED FROM THE

6. AIR BREAK SWITCH MAY BE SUPPLIED WITH ALTERNATIVE COMPONENTS RESULTING IN AN

    POLE FOR ATTACHMENT OF OPERATORS "DANGER DO NOT OPERATE" TAG.

5. EYE COACH SCREW/BOLT TO BE INSTALLED 2m ABOVE GROUND LEVEL ON FOOTPATH SIDE OF

    INSTALLATION ON THE ROAD SIDE OF THE POLE IS NOT ACCEPTABLE.

4. OPERATING MECHANISM MUST BE INSTALLED ON THE FOOTPATH SIDE OF THE POLE.

3. INSTALL AIR BREAK SWITCH ACCORDING TO MANUFACTURER'S INSTRUCTIONS.

    PHASE TO EARTH - 270mm

    PHASE TO PHASE - 325mm

    SOURCE - A.S.2067 (24kV)

2. CLEARANCES:

    MAINTAINED AT ALL TIMES TO ALLOW FOR LIVE LINE WORKING PROCEDURES.

1. A MINIMUM DISTANCE OF 2500mm BETWEEN HIGH AND LOW VOLTAGE CONDUCTORS IS TO BE

STD

P.JONES

C.ROSKELL

D
W

N
:

C
H

K
E

D
:

D
A

T
E

:

A
P

P
'D

 b
y

:

1

D
R

A
W

IN
G

 T
IT

L
E

 A
M

E
N

D
E

D
.

P
A

T
R

IC
IA

 R
IO

S

P
H

IL
L

IP
 J

O
N

E
S

3
0
/0

4
/2

0
2
1

G
L

E
N

N
 F

O
R

D P.RIOS

G.FORD

31/03/2021

22kV NGK STANGER

D
A

T
E

:

A
P

P
'D

:

C
H

K
D

:

D
W

N
:

2
T

IT
L

E
 A

M
E

N
D

E
D

.
A

S
S

O
C

IA
T

E
D

 D
R

A
W

IN
G

P
.J

.

P
.J

.

0
6

/0
3

/2
0

2
4

G
.F

.

255645-2.dgn 3/6/2024 12:33:20 PM


